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3. Label the point of tangency between the
smaller circle and the horizontal segment P.
N 4. Draw OP.
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\ 5 Drop a perpendicular from T to the
" \ horizontal segment.
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12. Area of circle O 1s ’ AO;/!/I*FQ = /’T(J[)' %= >‘ /352 6
13. Area of all four circlesis . i 35;0(0_’5')( = S bof -
14, Area outside four circlesis ___. A<e % blj cwtle - GTC-g jm"(j/tf) L
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£ 15.  What percent of the large circular region is outside the four smaller circles? , 7
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16.  Compare your answer in Part 2, #15 with your answer in Part 1, #4.
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